
AcousticDesign Multi-Purpose Loudspeakers 1
AD-S52, AD-S52T, AD-S82, AD-S82H Technical Service ManualTe
ch

ni
ca

l S
er

vi
ce

 M
an

ua
l AcousticDesign™

Multi-Use Loudspeakers

▲▲▲▲▲ AD-S52

▲▲▲▲▲ AD-S52T

▲▲▲▲▲ AD-S82

▲▲▲▲▲ AD-S82H

*TD-000175-00*
TD-000175-00

Rev. B
QSC Audio Products, Inc.
Costa Mesa, CA 92626 USA
www.qscaudio.com

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


2 QSC Audio Products, Inc.

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


AcousticDesign Multi-Purpose Loudspeakers 3
AD-S52, AD-S52T, AD-S82, AD-S82H Technical Service Manual

Table of Contents
Product Specifications ....................................................................................................................................................................... 4

AD-S52 and AD-S52T ............................................................................................................................................................................. 4

AD-S82 and AD-S82H ............................................................................................................................................................................. 6

Replacement Parts ............................................................................................................................................................................... 8

AD-S52 .................................................................................................................................................................................................... 8

AD-S52T .................................................................................................................................................................................................. 8

AD-S82 .................................................................................................................................................................................................... 9

AD-S82H .................................................................................................................................................................................................. 10

Drawings ................................................................................................................................................................................................. 11

AD-S52 .................................................................................................................................................................................................... 11

AD-S52T .................................................................................................................................................................................................. 12

AD-S82 .................................................................................................................................................................................................... 13

AD-S82H .................................................................................................................................................................................................. 14

IMPORTANT NOTICE:
This document contains proprietary information that is the property of QSC Audio Products, Inc., (QSC) and may not be disclosed,
reproduced or used without express or written consent from QSC.

Specifications, components, assembly, etc., are subject to change without notice.

QSC Audio Products, Inc.
Technical Services Group
1665 MacArthur Blvd.
Costa Mesa, California 92626 USA

Toll Free (USA only): 1-800-772-2834
Telephone: +1 (714) 957-7150
Fax: +1 (714) 754-6173

Web: www.qscaudio.com (product information and technical support)
www.qscstore.com (parts and accessory sales)

E-mail: tech_support@qscaudio.com

AcousticDesignTM Multi-Use Loudspeakers
AD-S52 / AD-S52T / AD-S82 / AD-S82H
Technical Service Manual

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


4 QSC Audio Products, Inc.

Product Specifications
AD-S52 and AD-S52T

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


AcousticDesign Multi-Purpose Loudspeakers 5
AD-S52, AD-S52T, AD-S82, AD-S82H Technical Service Manual

AD-S52 and AD-S52T (continued)

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


6 QSC Audio Products, Inc.

Product Specifications
AD-S82 and AD-S82H

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


AcousticDesign Multi-Purpose Loudspeakers 7
AD-S52, AD-S52T, AD-S82, AD-S82H Technical Service Manual

AD-S82 and AD-S82H (continued)

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


8 QSC Audio Products, Inc.

Replacement Parts
AD-S52 Parts List
Part Number Description Quantity Item
CH-000361-XX C3 5 IN GRILLE 1 1
CO-000268-00 POST, BINDING 2 2
CO-000297-00 FASTON, MALE, .210X.032 2 3
HW-000062-00 EYE BOLT, M6X1 1 4
MS-000214-00 FIBERFILL, POLYESTER, 7X5X1.5 1 5
NW-000023-00 NUT, M4X0.7, BRASS 2 6
NW-000024-00 LOCKNUT, M6, W/NYLON, SS 1 7
NW-000026-00 WASHER, SPLIT-LOCK, M4 BRASS 2 8
NW-000027-00 WASHER, M4, SS, FLAT 4 9
NW-250520-04 WASHER, M6, SS 1 10
PL-000215-01 NUT, WITH INSERT, BINDING POST 1 11
PL-000215-02 NUT, WITH INSERT, BINDING POST 1 12
RD-000117-00 LABEL, SERIAL 1
PL-000236-XX PLUG, INSERT, .375 4 14
PL-000244-00 O-RING, -018, TEFLON 1 15
PL-000309-XX PLUG, SWITCH HOLE 1 16
PL-000310-00 BAFFLE, AD-S52 1 17
PL-000311-00 PORT, FLARE, AD-S52 1 18
PL-000312-00 GASKET, BAFFLE, AD-S52 1 19
PL-000366-01 GASKET, BADGE, AD-S52, BLACK 1 20
PL-000313-XX LOGO, BADGE, AD-S52 1 21
PL-000374-00 GASKET, WOOFER, 5" 1 22
SB-000015-XX HOUSING, AD-S52 1 23
SC-000000-10 SCREW, PHILLIPS, PANHEAD, M3.5X1.25, 10L 3 24
SC-000002-15 SCREW, PHILLIPS, PANHEAD, M4X1.4, 15L 10 25
SC-000011-18 SCREW, PHILLIPS, PANHEAD, M4X1.4, 6 26
SP-000058-00 ZYLUX WOOFER, 5.25 IN, FG CONE, SHIELDED 1 27
SP-000061-00 TWEETER, 1" 1 28 ,
WP-000253-00 PCB, AD-S52, ASM 1 29
HW-000061-00 INSERT, POST/BALL, AD-S52 1
HW-000060-00 INSERT, M10X1 BRASS 4

AD-S52T Parts List
Part Number Description Quantity Item
CH-000360-00 PLATE, MOUNTING, SWITCH 1 1
CH-000361-01 C3 5INCH GRILLE 1 2
CO-000268-00 POST, BINDING 2 3
CO-000297-00 FASTON, MALE, .210x.032 2 4
HW-000062-00 EYE BOLT, M6x1 1 5
MS-000214-00 FIBERFILL, POLYESTER, 7x5x1.5 1 6
NW-000023-00 NUT, M4x0.7, BRASS 2 7
NW-000024-00 LOCKNUT, M6, W/NYLON, SS 1 8
NW-000026-00 WASHER, SPLIT-LOCK, M4, BRASS 2 9
NW-000027-00 WASHER, M4, SS, FLAT 4 10
NW-250520-04 WASHER, M6, SS 1 11
PL-000215-01 NUT, WITH INSERT, BINDING POST 1 12
PL-000215-02 NUT, WITH INSERT, BINDING POST 1 13
PL-000234-00 GASKET, TWEETER 1 14
PL-000236-01 PLUG, INSERT, .375 4 15
PL-000244-00 O-RING, -018, TEFLON 1 16
PL-000308-01 KNOB, XFMR TAP SWITCH 1 17

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


AcousticDesign Multi-Purpose Loudspeakers 9
AD-S52, AD-S52T, AD-S82, AD-S82H Technical Service Manual

AD-S52T (continued)
Part Number Description Quantity Item
PL-000310-00 BAFFLE, AD-S52 1 18
PL-000311-00 PORT, FLARE, AD-S52 1 19
PL-000312-00 GASKET, BAFFLE, AD-S52 1 20
PL-000313-01 LOGO, BADGE, AD-S52 1 21
PL-000362-00 GASKET, TRANSFER, AD-S52 1 22
PL-000366-01 GASKET, BADGE, AD-S52, BLACK 1 23
PL-000374-00 GASKET, WOOFER, 5" 1 24
RD-000117-00 LABEL, SERIAL 1
SB-000015-01 HOUSING, AD-S52, BLK 1 26
SC-000000-10 SCREW, PHILLIPS, PANHEAD, M3.5x1.25, 10L 3 27
SC-000002-15 SCREW, PHILLIPS, PANHEAD, M4x1.4, 15L 12 28
SC-000011-18 SCREW, PHILLIPS, PANHEAD, M4x1.4, 6 29
SP-000058-00 WOOFER, 5.25 IN, FG CONE, SHIELDED, AD-S52, ZYLUX 1 30
SP-000061-00 TWEETER, 1" 1 31 ,
SW-000103-00 SWITCH, XFMR TAP 1 32
WP-000253-00 PCB, AD-S52, ASM 1 33
XF-000205-00 TRANSFORMER, 30W 1 34
HW-000061-00 INSERT, POST/BALL, AD-S52 1
HW-000060-00 INSERT, M10X1 BRASS 4

AD-S82 Parts List
Part Number Description Quantity Item
CH-000215-01 GRILLE, C3-8, BLK 1 1
CH-000219-01 CATCH, C3-8 BLK 1 2
CH-000220-01 PLATE, TERMINAL, C3-8, BLK 1 3
CH-000276-00 PIN, CATCH, SS 1 4
CO-000268-00 BINDING POST 2 5
CO-000297-00 FASTON, MALE, 0.210 X 0.032 2 6
HW-000040-00 RETAINER, ID, 0.312 1 7
HW-000041-00 EYE BOLT, 6MM, SS 1 8
HW-000060-00 INSERT, M10 X 1, BRASS 2 9
MS-000210-00 FIBERFILL, POLY, 13.4X9.9X2.0 1 10
MS-000211-00 FIBERFILL, POLY, 7.1X5.9X2.0 2 11
NW-000022-00 LOCKNUT, M4 X 0.7, W/NYLON, SS 4 12
NW-000023-00 NUT, M4 X 0.7, BRASS 2 13
NM-000024-00 LOCKNUT, M6, W/NYLON, SS 1 14
NW-000026-00 WASHER, SPLIT-LOCK, M4, BRASS 2 15
NW-250520-04 WASHER, M6, SS 1 16
PL-000212-01 RECEPTACLE, BADGE,BLK 1 17
PL-000213-01 BADGE, 0.45 X 1.87, BLK 1 18
PL-000214-00 BACKPLATE, BINDING POST 1 19
PL-000215-01 NUT, WITH INSERT, BINDING POST, BLK 1 20
PL-000215-02 NUT, WITH INSERT, BINDING POST, RED 1 21
PL-000216-01 FLARE, PORT, C3-8, BLK 1 22
PL-000217-01 BASE, BINDING POST, C3-8, BLK 1 23
PL-000233-00 GASKET, WOOFER 1 24
PL-000234-00 GASKET, TWEETER 1 25
PL-000235-00 GASKET, CATCH 1 26
PL-000236-01 PLUG, INSERT, 0.375, BLK 2 27
PL-000237-00 GASKET, TERMINAL PLATE 1 28
PL-000238-00 GASKET, WAVE-GUIDE 1 29
PL-000239-00 GASKET, BAFFLE, NEOPRENE, BLACK 1 30
SB-000003-01 BUCKET, C3-8, BLK 1 31
SB-000004-01 BAFFLE, C3-8, BLK 1 32
SC-000000-10 SCREW, PHILLIPS,PANHEAD, M3.5X1.25, 10L BLK 3 33
SC-000000-12 SCREW, PHILLIPS,PANHEAD, M3.5X1.25, 12L 6 34

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


10 QSC Audio Products, Inc.

SC-000002-18 SCREW, PHILLIPS,PANHEAD, M4X1.4, 18L 8 35
SC-000011-15 SCREW, PHILLIPS,PANHEAD, M4X1.4, 15L BLK 8 36
SC-000011-23 SCREW, PHILLIPS,PANHEAD, M4X1.4, 23L BLK 16 37
SP-000067-00 WOOFER, 8", CELESTION—all [xx5xxxxxx] or later serial number

1 38
SP-000061-00 TWEETER, 1"—all [xx5xxxxxx] or later serial number 1 39
SP-000032-00 WAVE-GUIDE, TWEETER, C3-8 1 40
WP-000409-00 PCB ASSY, X-OVER, C3-8,SP61/67—all after [xx5xxxxxx] or later serial number

1 41

AD-S82H Parts List
Part Number Description Quantity Item
CH-000215-01 GRILLE, C3-8 1 1
CH-000219-01 CATCH, C3-8 1 2
CH-000220-01 PLATE, TERMINAL, C3-8 1 3
CH-000276-00 PIN, CATCH, SS 1 4
CO-000268-00 BINDING POST 2 5
CO-000297-00 FASTON, MALE, 0.210 X 0.032 2 6
HW-000040-00 RETAINER, ID, 0.312 1 7
HW-000041-00 EYE BOLT, 6MM, SS 1 8
HW-000060-00 INSERT, M10 X 1, BRASS 2 9
MS-000210-00 FIBERFILL, POLY, 13.4X9.9X2.0 1 10
MS-000211-00 FIBERFILL, POLY, 7.1X5.9X2.0 2 11
NW-000022-00 LOCKNUT, M4 X 0.7 W/NYLON SS 4 12
NW-000023-00 NUT, M4 X 0.7, BRASS 2 13
NW-000024-00 LOCKNUT, M6, W/NYLON,SS 1 14
NW-000026-00 WASHER, SPLIT-LOCK. M4,BRASS 2 15
NW-250520-04 WASHER, M6, SS 1 16
PL-000212-01 RECEPTACLE, BADGE 1 17
PL-000213-01 BADGE, 0.45 X 1.87 1 18
PL-000214-00 BACKPLATE, BINDING POST 1 19
PL-000215-01 NUT, WITH INSERT, BINDING POST, BLK 1 20
PL-000215-02 NUT, WITH INSERT, BINDING POST, RED 1 21
PL-000216-01 FLARE, PORT, C3-8 1 22
PL-000217-01 BASE, BINDING POST, C3-8 1 23
PL-000235-00 GASKET, CATCH 1 24
PL-000236-01 PLUG, INSERT, 0.375 2 25
PL-000237-00 GASKET, TERMINAL PLATE 1 26
PL-000238-00 GASKET, WAVE-GUIDE 1 27
PL-000239-00 GASKET, BAFFLE, NEOPRENE, BLACK 1 28
PL-000258-00 PLUG, WAVE GUIDE, HI OUTPUT, C3-8 2 29
SB-000003-01 BUCKET, C3-8,BLK 1 30
SB-000004-01 BAFFLE, C3-8 1 31
SC-000000-12 SCREW, PHILLIPS,PANHEAD, M3.5X1.25, 12L 6 32
SC-000002-18 SCREW, PHILLIPS,PANHEAD, M4X1.4, 18L 8 33
SC-000004-15 SCREW, PHILLIPS,PANHEAD, M5X0.8, 15L BLK 2 34
SC-000011-15 SCREW, PHILLIPS,PANHEAD, M4X1.4, 15L BLK 8 35
SC-000011-23 SCREW, PHILLIPS,PANHEAD, M4X1.4, 23L, BLK 16 36
SP-000009-00 WOOFER, 8 IN, NEO 1 37
SP-000021-00 COMPRESSION DRIVER, 1" 1 38
SP-000031-00 WAVE-GUIDE, HI OUTPUT, C3-8 1 39
WP-000109-00 PCB, CROSSOVER, C3-8, HO 1 40

AD-S82 (continued)
Part Number Description Quantity Item

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


AcousticDesign Multi-Purpose Loudspeakers 11
AD-S52, AD-S52T, AD-S82, AD-S82H Technical Service Manual

13 1
28 1

24 3
18 1

25 4
25 2

15 1
16 1

14 4
23 1

12 1 11 1 2 2 4 1 3 2
8 2

6 2
29 1

10 1
7 1

5 1
19 1

25 4
9 4

27 1
22 1

17 1

20 121 11 126 6

Fi
gu

re
 1

. A
D-

S5
2 

Ex
pl

od
ed

 V
ie

w
20 2

Ite
m

 n
um

be
r

Qu
an

tit
y 

pe
r u

ni
t

Le
ge

nd

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


12 QSC Audio Products, Inc.

141
311

273
191

284
321

282
161

154

13112132

51

92
42

72
331

111
81

61
284

201
104

301
241

181

211 231 21 296

282
11

341
221

261171

Figure 2. AD-S52T Exploded View
202

Item
 num

ber

Quantity per unit

Legend

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


AcousticDesign Multi-Purpose Loudspeakers 13
AD-S52, AD-S52T, AD-S82, AD-S82H Technical Service Manual

1
40

39
25

22
33

29
32

24
30

34
38

11
9

27
31

28
12

4
2

3
5

20 36
23

26
19

8
6

13
41

10
16

14
37

35

7 17 18

1
1

6
1

2
1

1
1

1
1

1
3

1
1

1
4

1
1

1
2

1
2

2

1 1 1

1
1

1
16

8

8
1

1
1

1
2

2
1

21 1

15 2

Fi
gu

re
 3

. A
D-

S8
2 

Ex
pl

od
ed

 V
ie

w
20 2

Ite
m

 n
um

be
r

Qu
an

tit
y 

pe
r u

ni
t

Le
ge

nd

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


14 QSC Audio Products, Inc.

1
29

38
34

39
22

27
31

28

11
30

9
25

12
26

4
2

3

35
23

24
8

19
6

13

10
40

14
16

37
32

36
33

71718

1

2
1

1
1

1
1

2
1

1
2

4
1

1
1

1
2

2

111

1
1

1
1

1
6

16
8

8
1

1
1

1
2

2

520 21

152

211

Figure 4. AD-S82H Exploded View
202

Item
 num

ber

Quantity per unit

Legend

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


AcousticDesign Multi-Purpose Loudspeakers 15
AD-S52, AD-S52T, AD-S82, AD-S82H Technical Service Manual

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/


16 QSC Audio Products, Inc.
QSC Audio Products, Inc.,     1675 MacArthur Boulevard     Costa Mesa, California 92626  USA     PH: +1 (714) 754-6175    FAX: +1 (714) 754-6174

“QSC” and the QSC logo are registered with the U.S. Patent and Trademark Office.

Downloaded from www.Manualslib.com manuals search engine 

http://www.manualslib.com/

